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QUESTION 1

Which Informix utility is useful in debugging failedtransactions, the time period of a transaction, and changes that are
made to a tablespace? 

A. onlog 

B. onload 

C. onbar 

D. onunload 

Correct Answer: A 

 

QUESTION 2

Which of the following configurations would suggest that an Informix server is tuned for a DSS workload? 

A. PDQPRIORITY is set to the value "HIGH". 

B. There are more transactions than queries. 

C. Database or table logging is turned on. 

D. A task is configured to capture Checkpoint data every two hours. 

Correct Answer: A 

 

QUESTION 3

Which of the following is true of the new Storage Provisioning technology in Informix? 

A. Dbspaces can only contain one or two chunks. 

B. The ability to extend or create new chunks as needed. 

C. Indexes are now separated from the data. 

D. Table fragments are automatically compressed. 

Correct Answer: B 

 

QUESTION 4

Which of the following statements aboutFlexible Grid technology is TRUE? 

A. It requires high speed interconnect technology between nodes. 
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B. It works only in a shared disk environment. 

C. It requires additional technology for disaster recovery. 

D. Both DDL and DML can be performed dynamicallyon all grid nodes from a single server. 

Correct Answer: D 

 

QUESTION 5

What is a feature of the architecture of Informix? 

A. Limited extensibility capabilities 

B. Fan-In and Fan-Out parallelism 

C. Synchronous I/O for fast read-ahead 

D. Process-based with minimal use ofmultithreading 

Correct Answer: B 
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